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SOLSTICE

Cathedral Windows Shawl

Approx. Finished After Blocking: 20x60”

Materials:

Solstice: 5 - 50g balls, shown in color 27 Orchid
Gauge: 19 sts and 22 rows =4” in pattern
Needles: US Size 7 knitting needles,

2 stitch markers, Tapestry needle.

Cathedral Windows Pattern
(multiples of 8 sts plus 1)

Row 1: (WS) and all other wrong-side rows-Purl.

Row 2: K1, *yo, ssk, k3, k2tog, yo, k1; rep from *
Row 4: K2, *yo, ssk, k1, k2tog, yo, k3; rep from * end
last repeat k2.

Row 6: P1, *k2, yo, sl 1-k2tog-psso, yo, k2, p1; rep
from *

Row 8, 10, 12, 14, and 16: P1, *ssk, (k1, yo) twice, K1,
k2tog, p1; rep from *.

Repeat rows 1-16.

NOTE: Be aware of the ending of Row 4 which is a
k2, not k3 as established in the repeat.

Directions:

Cast on 91 sts. Work 3 rows of garter stitch.
Next row, knit 5 sts, pm, knit across until 5 sts
remaining, pm, knit last 5 sts.

Next row, k5, sm, start with Row 2 of Cathedral
Windows Pattern, sm, k5.

Continue working on established garter stitch edge and
Cathedral Windows Pattern Stitch center, until piece

measures approximately 59” ending on Row 6 of pattern.
Work 4 rows of garter stitch, removing stitch markers.

Bind off loosely. Weave in all ends.
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ABBREVIATIONS: BO= bind off, dec= decrease, k = knit, ksp= k1, slip st back onto left hand needle, lift 2" st on left hand needle
back over returned st and replace returned st on right hand needle, psso= pass slipped stitch over, p = purl, RS= right side, sl = slip,
SSK = slip 1 st as if to knit, slip a second st as if to knit, knit them together through the back loop, st(s) = stitch(es), st st =
stockinette st, tbl = through back loop, tog = together, WS = Wrong Side, yo = yarn over, wyif = with yarn in front, wyib = with yarn

in back.
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